BK S:t Erik

Fredagsbarometer 2022-09-30

SCRATCH

Partavling, 9 bord, 18 par. Antal brickor: 24. Medel: 192.0.

Plac Par Poéang % Namn MID Klubb
1 9 228.0 59.38 Siv Svensson - Dan Lindblom 63244 62063 BK S:t Erik
2 8 224.0 58.33  Anders Lindgren - Peter Englund 13951 12414 BK S:tErik
3 77 223.0 58.07 Catharina Eneroth Bjorkman - Eva Eneroth 48888 63345 BK S:tErik
4 7 220.0 57.29 Eva Wiklander - Yvonne Flodgvist 17165 14805 BK S:tErik
5 5 209.0 54.43  Jan-Ove Hed - Rolf Westling 48412 2081  SEB Bridge - BK S:t Erik
6 79 208.0 54.17 Johan Séfsten - Lars Nilsson 35452 43950 Uppsalabridgen - BK S:t Erik
7 4 197.0 51.30 Torsten Ragnartz - Gert Sass 39125 82415 BK S:tErik
8 74 195.0 50.78 Ann Loéfberg - Karin Ekhammar 31651 54543 BK S:t Erik
9 73 189.0 49.22 Mikael Ostlund - Ulla Winblad 64812 48717 BK S:tErik
9 72 189.0 49.22  Sigbritt Israelson - Anita Deckel 33947 43447 BK S:tErik
11 3 182.0 47.40 Dick Everskog - Magdalena Ginste 87993 83512 BK S:tErik
11 78 182.0 47.40 Jan Larsson - Peter Flodgvist 5220 14778 BK S:tErik
11 80 182.0 47.40 Thaitown Nystrdm - Per Stéderberg 67924 18380 BK S:t Erik - Norrorts Bridge
14 75 181.0 47.14  Bertil Drakenberg - Marita Ramsund 12772 57689 BK S:tErik
15 76 170.0 44.27  Anders d'Aquino - Mi Andrén 21174 90168 BK S:t Erik - Norrorts Bridge
16 6 163.0 4245 Rolf Borg - Monika Olsson 33367 49367 BK S:tErik
17 2 159.0 41.41  Ake Jungdalen - Bjorn Hallman 63900 79682 BK S:tErik
18 1 155.0 40.36  Mia Brunnberg - Hans Brolin 41072 7596 BK S:tErik - Bords BA
1 4 D743 Basta kontrakt 2 4 K864 Basta kontrakt 3 4 852 Basta kontrakt
Nord v D82 INTO =-90 Ost v KKn1075 2v S =110 Syd v D982 4v SD-1-100
Ingen + E876 NS *2 ov + KKn
#DKn & ¢ v & NT #EDS8 & ¢ v & NT #10742 & ¢ v & NT
aKn2 4E985 N6 6566 4 EDKn2 41075 N7 7877 « D76 4 E1043 N8 3845
vEK65 v1074 S 66 6 6 6 v42 vE93 S67877 v KKn4 v 105 S 83945
¢ DKn9 ¢ K103 077767 ¢ KD64 4953 O6 6 46 6 ¢+ D87643 ¢ E10952 O 4 104 9 6
#E652 #1043 V777867 #Kn52  #K763 V66 46F¢6 *E «D8 V 4 104 9 6
& K106 493 & KKn9
v Kn93 v D86 vE763
¢ 542 + EKn1087 .-
*K987 #1094 #KKn9653
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
9 72 INS+1 #4 120 16.0 00|77 4 44 V-5 v7 250 16.0 00|77 4 4v N= ¢A 420 16.0 0.0
75 6 INV-1 43 50 140 20|80 1 3vN+1 ¢5 170 140 20(75 6 3vy S+l 46 170 140 20
5 76 INS-1 vA -50 12.0 40| 3 78 2¢v N+1 &5 140 90 7.0| 3 78 3vS= +4 140 11.0 5.0
3 78 INV= +5 -90 70 9.0| 5 76 2v N+1 46 140 90 7.0| 9 72 3v N= 2 140 11.0 5.0
73 8 INV= *7 -90 70 9.0|73 8 24 N+1 a5 140 90 7.0| 5 76 2¢ V+2 &4 -130 6.0 10.0
77 4 INV= ¢7 -90 70 90|75 6 2vN+1 8 140 90 7.0|73 8 4e V= *4 -130 6.0 10.0
80 1 INV= *7 -90 70 90| 9 72 2v N= +3 110 40 120|800 1 4¢ V= v8 -130 6.0 10.0
2 79 INV+1 +5 -120 20 140| 2 79 INO-2 vQ 100 1.0 150| 2 79 34 O= vA -140 2.0 140
74 7 INV+2 43 -150 0.0 16.0|74 7 24 V-2 2 100 10 150|74 7 4#S-3 ¢4 -150 0.0 16.0
4 4 K8 Bésta kontrakt 5 4982 Bésta kontrakt 6 s E Bésta kontrakt
Vast v 8732 44 V =-620 Nord v D964 2NT O =-120 Ost v E109532 ANT O =-630
Alla + Kn93 NS ¢+ Kn3 ov + 10652
#10984 & ¢ v & NT #KD107 & ¢ v & NT #Knl0 & ¢ v & NT
4 ED94 4 Kn752 N2 2824 4K765 4103 N54665 4753 4 D1092 N3 4553
v10 vKn9 S22824 v 852 v EKn3 S53665 vKn4 vKD8 S 34553
¢ ED1074 ¢ K2 O 10115 107 ¢ K1074 ¢ ED85 089778 ¢+ K4 ¢ E873 O 107 6 8 10
#ED3 #K7652 V 10115 107 #96 #EKn85 V896738 #EKD852 #96 V 107 6 8 10
41063 « EDKn4 & KKn864
v EKD654 v K107 v76
+ 865 + 962 + DKn9
#Kn #432 *743
Par Kontr ut Res Poang Par Kontr ut Res Poang Par Kontr Ut Res Poang
1 5500-1 vA 100 150 10| 1 5 INO= 2 90 150 10| 4 78 44DO-2 v7 500 16.0 0.0
6 77 54 O-1 LN 100 150 10|76 7 INO= a) 90 150 10| 6 77 44 O-2 v7 200 140 20
80 2 24V+2 &T -170 120 4.0 3 79 INO+1 &A 120 110 50|74 9 34 V+l 4A -130 120 4.0
3 79 44 0= vA -620 6.0 10.0|74 9 INO+1 4 -120 110 5.0 3 79 3v N-3 «9 -150 100 6.0
4 78 44 O = vK -620 6.0 10.0| 6 77 INO+2 4 -150 70 9.0|72 73 3NO= v7 -600 70 9.0
72 73 44 O = vA -620 6.0 10.0|80 2 INO+2 &2 -150 70 90|75 8 3NO= v7 -600 70 9.0
75 8 44 0= vA -620 6.0 10.0| 4 78 INO+3 4 -180 20 140| 1 5 3NO+1 v7 -630 20 14.0
76 7 44 O= vA -620 6.0 10.0|72 73 INO+3 4 -180 20 140|76 7 3NO+1 v7 -630 2.0 140
74 9 44 O+1 &) -650 0.0 16.0|75 8 INO+3 ¢9 -180 20 140|180 2 3NO+1 v7 -630 20 140
7 495 Bésta kontrakt 8 » EK8 Bésta kontrakt 9 4986 Bésta kontrakt
Syd v K10765 3¢ S =110 Vast v 953 5¢ ND-2-300 Nord vD1093 3¢ S =110
Alla + KD32 Ingen ¢ KKn93 ov + D974
«D4 & ¢ v &4 NT 2976 & ¢ v & NT *Kn7 & ¢ v &4 NT
4 Kn843 D107 N9 9887 4« D9752 4 Kn10 N3 9347 4 EKn3 4 D10752 N7 8655
vED93 vKn82 S 99887 vEKn7 vKD10864 S 3 9 3 4 7 vE765 vKn42 S7 9656
410865 ¢ Kn7 O4 4456 ¢+ D62 O 8 4 108 4 ¢EKn5 ¢32 O4 4786
&5 #KKn1097 V 4 4 4 5 6 QKKn1085 D4 V 8 4 108 4 K32 #1064 V 446 86
& EK62 4643 a K4
va v2 vK8
¢+ E94 + E108754 + K1086
»E8632 #E32 #ED985
Par Kontr Ut Res Poéang Par Kontr Ut Res Poéang Par Kontr ut Res Poéang
2 6 3NN= &5 600 13.0 30|76 9 4v0O-2 v2 100 16.0 00| 4 79 34 V-2 *] 200 150 1.0
7 1 3NN= &7 600 13.0 3.0(80 3 4v0O-1 ¢+ A 50 140 20|75 72 44 O-2 ¢K 200 150 1.0
75 72 3NN= *9 600 13.0 30| 4 79 3vO+1 o7 -170 110 50| 7 1 INS+1 v6 120 12.0 4.0
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80 3 3NN-= «9 600 13.0 3.0|73 74 3vO+1 ¢4 -170 110 50| 2 6 2#S+1 43 110 9.0 7.0
5 78 INN+2 &7 150 80 80| 7 1 3vO0+2 +A -200 80 80|76 9 3#S-= 43 110 9.0 7.0
77 8 INN= &T 90 6.0 100| 5 78 4v O= ¢ A -420 40 120| 5 78 24 O-1 A 100 40 120
4 79 3NN-1 &K -100 40 12075 72 4v O= ¢*A -420 40 120|73 74 24 O-1 v8 100 4.0 120
73 74 3NS-2 v8 -200 10 15.0|77 8 44 0O= 46 -420 40 120|180 3 34V-1 a2 100 40 120
76 9 3NS-2 45 -200 10 150 2 6 4vO+1 ¥vA -450 00 16.0|77 8 24 V+1l &) -140 0.0 16.0
10 4 ED2 Basta kontrakt 11 & KKn9 Basta kontrakt 12 48742 Basta kontrakt
Ost v DKn8643 4¢ SD-1-200 Syd v KD943 6NT N =990 Vast vD1063 5¢ V =-400
Alla 452 Ingen + D6 NS +6
*73 & ¢ v & NT +K109 & ¢ v & NT *7643 & ¢ v & NT
» 106 4 Kn8743 N3 9754 4ED762 41054 N 128 127 12 D #4EKNn1096 N 1 1 6 3 2
vE97 v K52 S39754 v85 v Kn107 S 128 127 11 v Kn8 vE54 S11632
+ D6 ¢ KKn 094589 ¢ Kn432 ¢ K1095 015161 ¢ Kn10743 ¢ KD8 O 11117 8 9
#D109654 #EK2 V945189 #53 «D87 Vis5161 #KD1085 #E9 VvV 11117 8 9
« K95 « 83 « K53
v10 v E62 v K972
¢ E1098743 ¢ E87 ¢ E952
#Kn8 #EKn642 #Kn2
Par Kontr Ut Res Poang Par Kontr Ut Res Poéang Par Kontr ut Res Poang
8 2 5#DV-2 7 500 160 00| 3 7 3NN+3 49 490 150 10| 3 7 3NV-1 v2 50 160 0.0
6 78 34 O-2 vT 200 140 20|74 75 3NS+3 48 490 150 10|74 75 2NV = v3 -120 140 20
74 75 3¢ S= T 110 11.0 50| 5 79 4vyN+2 5 480 100 6.0| 8 2 2NO+1 v8 -150 12.0 4.0
77 72 3¢ S= T 110 11.0 50| 6 78 4y N+2 44 480 100 6.0| 1 9 3NV= v6 -400 8.0 8.0
3 7 3vyN-1 *A -100 70 90| 8 2 4vyN+2 ¢5 480 100 6.0|77 72 3NV = v6 -400 8.0 8.0
76 73 3v N-1 *A -100 70 9.0|80 4 4vy N+1 vJ 450 6.0 10080 4 3NO= v7 -400 8.0 8.0
579 24 0= vT -110 40 120| 1 9 3NS+1 42 430 3.0 13.0| 5 79 3NO+2 ¢2 -460 3.0 13.0
1 9 3NO= *7 -600 10 15.0|77 72 3NS+1 42 430 3.0 13.0| 6 78 3NO+2 +5 -460 3.0 13.0
80 4 3NO= +9 -600 10 15.0|76 73 3NS= 42 400 0.0 16.0(76 73 SNO+3 #J -490 0.0 16.0
13 4105 Bésta kontrakt 14 « E107 Bésta kontrakt 15 &« E963 Bésta kontrakt
Nord v D7532 74 O =-2210 Ost v2 54 O =-450 Syd vED2 6+ VD -1100
Alla ¢ 653 Ingen + 1095 NS ¢ KDKn2
#432 & ¢ v & NT #KKn10965 & ¢ v & NT #65 & ¢ v & NT
« EKn8642 «KD97 N34101 « D63 & KKng42 N86 224 « KD42 a- N 2 115 105
vKn v EK1084 $34101 v9 vEDKn1084 S 8 6 2 2 4 v94 v Kn8653 S 2 105 105
¢EDKNn4  ¢- O 109 101312 ¢ DKn864 ¢+E 05 7 10117 +6 ¢E9%4 o112 7 37
*96 *ED87 VvV 108 101312 #E843 *2 vV 57 10117 #EDKN1092 #K8743 V112 7 3 7
43 « 95 & Kn10875
v 96 v K7653 v K107
¢ K109872 ¢ K732 4108753
#KKn105 «D7 *-
Par Kontr Ut Res Poéang Par Kontr Ut Res Poéang Par Kontr ut Res Poéang
2 72 44 V+3  ¢3 -710 150 10| 4 8 4NV -4 v3 200 160 00| 6 79 2¢v O+1 &J -140 16.0 0.0
9 3 44 V+3 ¢33 -710 150 1.0|77 74 3NO- *6 150 140 20| 7 78 4V +1l ¢K -150 12.0 4.0
1 73 64 V= v2  -1430 80 80| 1 73 54 0-2 «Q 100 120 40| 9 3 3&V+2 ¢K -150 12.0 4.0
4 8 6e&V= v5  -1430 80 80|75 76 54 O-1 +Q 50 100 6.0|75 76 4V+1l ¢K -150 12.0 4.0
6 79 64 V= v2  -1430 80 80| 9 3 1lvO+3 49 -170 80 80|77 74 44aDS-1 46 -200 8.0 8.0
7 78 64 V= v2  -1430 80 80| 7 78 4v O= 49 -420 50 11.0| 2 72 5« V= ¢+ K -400 50 11.0
77 74 64 V= v2  -1430 80 80|80 5 4vO-= +Q -420 50 110| 4 8 5#V= ¢+ K -400 50 11.0
75 76 64 V+1 T -1460 20 140| 2 72 44 O+1 &7 -450 10 15.0| 1 73 54DV=  ¢K -550 1.0 15.0
80 5 74V= 2 -2210 0.0 16.0| 6 79 4v O+1 49 -450 10 15080 5 5#DV=¢K -550 1.0 150
16 476 Bésta kontrakt 17 4 D842 Bésta kontrakt 18 aD4 Bésta kontrakt
Vast v 1075 6NT V =-1440 Nord vE32 2¢ N =90 Ost v 9873 4% O =-130
ov + KD9753 Ingen ¢ EKKn5 NS + K10532
*Kn6 & ¢ v & NT #Kn6 & ¢ v o NT »87 & ¢ v & NT
4E10852 & DKn9 N2 4111 4Knl06 4K93 N687 77 109753 482 N3 9 46 4
v KKn vED93 S§$24111 v 109764 vKS5 S686 77 vEK106 D52 S39464
¢ EKn4 ¢ 62 O 118 121212 ¢ 94 + D86 O6 56 66 9 ¢ Kn74 O 103 8 7 4
»732 »EK85 VvV 119 121212 #843 #EK1072 V65666 #K63 #ED1042 V 103 8 7 4
4 K43 «E75 « EKKn6
v 8642 v DKn8 v Kn4
+ 108 ¢ 10732 + ED86
«D1094 »D95 #Kn95
Par Kontr Ut Res Poéang Par Kontr Ut Res Poéang Par Kontr ut Res Poéang
80 6 4e V= ¢+ K -620 16.0 00|72 4 3¢DV-2 ¢A 300 160 00| 1 75 INS+2 T 150 130 3.0
3 73 44 V+1l ¢K -650 140 20|80 6 2NN= A 120 140 20| 2 74 INS+2 43 150 13.0 3.0
1 75 44 V+2 oK -680 80 80| 1 75 2NN-1 &7 -50 90 70| 5 9 3v0O-3 K 150 130 3.0
2 74 4a V+2 &) -680 80 80| 3 73 2NN-1 &2 -50 90 70|80 6 INS+2 4T 150 130 3.0
5 9 44 V+2 ¢K -680 80 80| 7 79 2NN-1 *A -50 90 7.0|72 4 2+V-1 v9 50 8.0 8.0
7 79 44 V+2 K -680 80 80|76 77 INN-1 *A -50 90 7.0| 3 73 3#0= s A -110 6.0 10.0
8 78 44 V+2 oK -680 80 80| 5 9 2NN-2 *A -100 40 120| 7 79 3v O+1 A -170 3.0 13.0
72 4 3NV+3  +7 -690 20 140| 2 74 2vO= *T -110 20 140| 8 78 2v O+2 4A -170 3.0 13.0
76 77 5¢4DN-4 #A -800 00 16.0| 8 78 2¢vDV=¢A -470 0.0 16.0|76 77 INS-2 vA -200 0.0 16.0
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19 4 E73 Basta kontrakt 20 a74 Basta kontrakt 21 4 K107 Basta kontrakt
Syd v 10863 24 V =-110 Vast v K942 3v N =140 Nord v 102 2v O =-110
oV + 1073 Alla ¢ K1065 NS ¢ E732
«D72 & ¢ v & NT #ED3 & ¢ v & NT 10987 & ¢ v & NT
4Kn42 4109865 N6 6656 «aKD2 «EKn106 N6 7967 48643 & DKn2 N6 7567
vED2 v 954 S66 656 v763 vEKn S67 967 v K87 v E9643 S6 7566
¢ E42 ¢ DKn8 o7 7787 47432 ¢ Kn98 065465 + 108 +954 065876
#EK109 %64 v77787 #985 #K1062 V654635 #KKn54 #E3 V65876
4 KD #9853 «E9S
v KKn7 vD1085 v DKn5
+ K965 ¢ED ¢ KDKn6
#Kn853 #Kn74 *D62
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr ut Res Poang
4 74 24 S-2 *A -100 160 0.0|77 1 34V-3 v4 300 160 00| 9 78 INS+1 #4 120 160 0.0
8 79 24 V= 43 -110 13.0 3.0 9 78 INDO-1 +¢A 200 140 20| 2 76 INS= vK 90 120 4.0
77 1 24 V= ¢3 -110 130 3.0(73 5 1vS+3 v7 170 120 40| 6 72 INS= *4 90 120 4.0
3 75 24 V+1 o7 -140 70 90| 3 75 2vS+1 3 140 80 80| 8 79 INS= v7 90 120 4.0
6 72 24 V+1 T -140 70 9.0| 8 79 2¢v N+1 8 140 80 80| 4 74 3¢ S-1 v7 -100 80 8.0
9 78 24 V+1  v6 -140 70 90|80 7 3vN= ¢8 140 80 80|77 1 2v0= ¢+ K -110 6.0 10.0
80 7 24 V+l a2 -140 70 90| 4 74 INS+1 K 120 40 120 3 75 29 O+1 ¢K -140 4.0 120
2 76 24 V+2 T -170 20 140| 6 72 1a V-1 vQ 100 20 14080 7 24S-3 v2 -300 20 14.0
73 5 INV+3 T -180 0.0 160 2 76 INS= &K 90 0.0 16.0(73 5 2¢yDV=+A -470 0.0 16.0
22 4 KKn10642 Basta kontrakt 23 4 D654 Basta kontrakt 24 a72 Basta kontrakt
Ost v K9 6NT N =990 Syd vK 2y V =-110 Vast v 102 4¢ ND-1-100
ov + D102 Alla ¢ EKn853 Ingen + EK10865
*E2 & ¢ v & NT *E54 & ¢ v & NT 1087 & ¢ v & NT
4D 49875 N 5 127 1212 4 K8 4 E972 N6 7577 « EKNn1043 4965 N3 9747
vD7642 vEKn3 S 5 116 118 v9763 vD1084 S67577 v Kn65 vE83 S39747
+974 +86 070600 + KD4 +76 O7586 6 +9 ¢ 432 O 104 6 9 6
#DKn98 #10765 V70600 #DKn73 #K106 V76866 #E943 #KKn65 V9469F€6
4E3 4 Kn103 4 KD8
v 1085 v EKn52 vKD974
¢ EKKn53 41092 ¢ DKn7
#K43 #9082 »D2
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr ut Res Poang
5 75 44 S+3 ¢4 510 120 40| 4 76 3NN= «7 600 160 00| 5 75 3NS= «3 400 150 1.0
9 79 44 S+3 #Q 510 120 40|72 78 4v V-3 A 300 140 20| 7 73 3NS= «3 400 150 1.0
72 78 44 S+3 #Q 510 120 40|74 6 INN+2 42 150 120 40|74 6 INS+2 43 150 120 4.0
74 6 44 S+3 8 510 120 40|80 8 INS+1 #Q 120 100 6.0| 3 77 3¢ N= 6 110 9.0 7.0
80 8 44 S+3 #Q 510 120 40| 7 73 2¢ N+1 ¢7 110 80 80|72 78 3¢ N= 5 110 9.0 7.0
7 73 44 S+2 v2 480 6.0 100| 1 2 INS= *Q 90 30 130| 1 2 340-1 v2 50 6.0 10.0
4 76 44 S+1 ¢4 450 4.0 120| 3 77 2¢ N= v8 90 3.0 13.0| 9 79 3¢ N-2 *6 -100 4.0 120
1 2 34S+4 #Q 260 20 140| 5 75 INS= *7 90 30 13.0| 4 76 3v S-3 *9 -150 20 14.0
3 77 3NS-1 v2 -50 00 16.0| 9 79 2¢ N= +6 90 30 13.0|8 8 3NS-5 a7 -250 0.0 16.0
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